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1 Introduction

Ty Rsp 6ylw mlRRwp FpOHpynp zq Spider-Man 3fi Rsp ilyoxly nslPlnRpP
qzPxF stxFpwq lR l nzyFRPHnRtzy FtRp- fHwwtyr qzPptry xlRpPtlwF FHns
lF otPR lyo nzyFRPHnRtzy opmPtF tyRz stxFpwqfi sp qzPxF tyRz l xzyfl
FRPzHFfi ”: qzzR Rlww IpPFtzy zq stxFpwq Ustns Up PpqpPPpo Rz FtxCwA
lF 5Mtr-5 Mtr CPpFpyRpo l yHxmpP zq nslwwpyrpF FpClPlRp qPzx Rsp
zRspP tynlPylRtzyF zq Rsp nslPlnRpP ty Rsp 6wx-

Mtr UlF qlP Rzz wlPrp Rz qzPx qPzx ClPRtnwpF lF UlF ozyp ty zRspP
FszRFfi lyo ApR tR yppopo Rz mp nwplP RslR Mtr UlF xlop zq xzItyr
Flyo Ustns qpo stx qPzx Rsp rPzHyo HC- gHPRspPxzPpfi oHp Rz FnPtCR
nslyrpFfi Up zywA slo l qpU xzyRsF lIltwlmwp ty Ustns Up yppopo Rz
CPzoHnp Fzxp W: FszRF zq Rsp nslPlnRpP- Mtr yppopo Rz mp pq6ntpyR-
LF Fzzy lF Rsp wzzv UlF lCCPzIpofi tR yppopo Rz mp PploA Rz PHy qzP
Rsp pyRtPp FpOHpynp-

2 Playing with Sand

Ty zPopP Rz xlvp Mtr2F FHPqlnp lCCplP Rz mp xlop zHR zq xzItyr
Flyofi Up RPtpo l yHxmpP zq RPtnvF FHns lF lytxlRtyr Rsp FslopPF
lyo lootyr tFzwlRpo FRPplxF zq Flyo zy stF mzoA- SzUpIpPfi yptRspP
zq RspFp lCCPzlnspF PpFHwRpo ty Rsp opFtPpo nzxCwpKtRA zP FpyFp zq
xzRtzy- TyFRplofi Up slo Rz PpFzPR Rz Rsp mPHRp qzPnp lCCPzlns zq
FnlRRpPtyr Flyo zIpP Mtr2F pyRtPp mzoA lyo FtxHwlRtyr tR ,zUtyr Itl
l SzHotyt ClPRtnwp FtxHwlRtzy-

bp nPplRpo l FRlRtn PpFR CzFtRtzy ty Ustns Rz FtxHwlRp ClPRtnwp ,zUF-
itynp Rsp Flyo yppopo Rz rpypPlwwA ,zU HC stF mzoA lyo Rspy ozUy
stF lPxFfi Up nPplRpo Rsp PpFR CzFtRtzy FHns RslR Mtr UlF FRlyotyr HCfl
PtrsR UtRs stF lPxF FRPltrsR HC- kFtyr RstF PpFR CzFtRtzyfi lF wzyr lF
Rsp ClPRtnwpF UpPp rpypPlwwA rztyr HCfi RspA UzHwo ,zU HC stF mzoA
lyo ozUy stF lPxF- eynp RstyrF UpPp FtxHwlRpo zy Rsp PpFR CzFtfl
Rtzyfi RspA nzHwo mp RPlyFqpPPpo Rz Rsp lytxlRpo xzopw qzP Rsp FszR
mA nlwnHwlRtyr lyo FRzPtyr Rsp mlPAnpyRPtn nzzPotylRpF zq Rsp yplPpFR
RPtlyrwp zy Rsp PpFR CzFpfi lyo Rspy RPlyFqzPxtyr Rz RszFp mlPAnpyfl
RPtn nzzPotylRpF qzP Rsp nzPPpFCzyotyr RPtlyrwp HCzy Rsp lytxlRpo
IpPFtzy- jstF lwFz wpR HF plFtwA PpHFp FtxHwlRtzyF lnPzFF FpIpPlw otqfl
qpPpyR FszRF-

LwRszHrs RspPp UlF l FHPqlnp mpyplRs Rsp wlApP zq ,zUtyr ClPRtnwpFfi
Rsp FsppP Fnlwp zq Mtr PpOHtPpo HF Rz FtxHwlRp zy Rsp zPopP zq 1 Rz
” xtwwtzy ClPRtnwpFfi Ustns UlF mzzFRpo qHPRspP mA l qlnRzP zq 1: lR
PpyopP Rtxp HFtyr zHP Flyo tyFRlyntyr PpyopPtyr FAFRpx-

itxHwlRtyr 1fl” xtwwtzy ClPRtnwpF ,zUtyr zIpP l FHPqlnp UlF l nslwfl
wpyrp ty tRFpwq- appCtyr Rsp ClPRtnwpF nzyFRPltypo Rz Rsp FHPqlnp
CPzIpo Rz mp Rsp xzFR nzFRwA ClPR zq Rsp FtxHwlRtzy- bp opntopo
Rz ClPlwwpwtBp Rsp UzPv mA FlItyr RslR nzFRwA RlFv HyRtw lqRpP Rsp Ftxfl
HwlRtzy UlF nzxCwpRpo- L ’flotxpyFtzylw IpnRzP 6pwo UlF nPplRpo
lPzHyo Rsp PpFR CzFp- jsp IpnRzPF UpPp nlwnHwlRpo FHns RslR RspA
PpCPpFpyRpo Rsp HC IpnRzP CPzupnRpo tyRz Rsp RlyrpyR Cwlyp zq Rsp
yplPpFR FHPqlnp CztyR- jstF nPplRpo l ,zU 6pwo xtxtnvtyr Rsp rPzFF
nzyRzHPF zq Mtr2F mzoA- jsp ClPRtnwpF UpPp Rspy loIpnRpo RsPzHrs
RstF IpnRzP 6pwo ty UslR UlF ly pKRPpxpwA qlFR zCpPlRtzy zy Rsp
zPopP zq 0: FpnzyoF CpP qPlxp qzP 1 xtwwtzy ClPRtnwpF- hlRspP Rsly
RPAtyr Rz mp pKlnRfi Rsp loIpnRtzy xpPpwA vpCR Rsp ClPRtnwpF xzItyr
nwzFp Rz Rsp FHPqlnp- LqRpP RstF FtxHwlRtzy UlF FRzPpo Rz otFvfi plns
qPlxp nzHwo mp Pplo tyopCpyopyRwAfi FylCCpo pKlnRwA Rz Rsp FHPqlnpfi
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gtrHPp 0. Mtr ilyoxly FRlPpF ozUy iCtopPflcly ty Rsp 6ylw mlRRwp
FpOHpynp zq Spider-Man 3-
n�dzwHxmtl ftnRHPpF TyoHFRPtpFfi Tyn- Lww PtrsRF PpFpPIpo-

lyo FlIpo mlnv Rz otFv- jstF lwwzUpo HF Rz PHy Rsp xzFR nzFRwA ClPR
zy l qlPx zq CPznpFFzPF fl zyp CPznpFFzP CpP qPlxp- Ty RstF UlAfi
Up UpPp lmwp Rz oPzC Rsp Rtxp PpOHtPpo Rz Fpp l 1 xtwwtzy ClPRtnwp
FtxHwlRtzy qzP l ’:: qPlxp FszR qPzx ): szHPF Rz uHFR zIpP 0 szHP-

bp qzHyo RslR HFtyr zHP CsAFtnlwwA nzPPpnR Flyo rPlty Fnlwp lCfl
CplPpo Rzz 6yp lR Mtr ilyoxly2F FtBp- TR lwFz xlop tR otq6nHwR Rz
Pplo Rsp ,zUtyr xzRtzy lwzyr Rsp FHPqlnp- bp opntopo Rz IlPA Rsp
FtBp lyo tyRPzoHnp xzPp CpmmwpF lyo PznvF tyRz Rsp Flyofi Ustns yzR
zywA qpwR xzPp tyRpPpFRtyr mHR spwCpo Fpww Rsp FRzPA CztyR RslR sp UlF
lwUlAF CHwwtyr qPpFs Flyo ty qPzx Rsp PznvA nzyFRPHnRtzy CtR mpfl
wzU- bstwp xzFR zq zHP Flyo UlF PpyopPpo lF hpyopPcly CztyRFfi
Rsp wlPrpP CpmmwpF HFpo otFCwlnpo nHPIpF RslR UpPp lFFtrypo l Plyfl
ozx xlC ty Rsp FslopP Rz UPlC Rspx lPzHyo lyo rtIp HF l IpPA
rzzo lCCPzKtxlRtzy zq rpzxpRPA- eywA Rsp IpPA wlPrpFR nsHyvF zq
Clnvpo Flyo UpPp PpyopPpo lF rpzxpRPA- jsp Flyo tyFRlynpP UlF
lmwp Rz mwpyo PpwlRtIpwA FplxwpFFwA mpRUppy plns wpIpw zq opRltw lyo
Rsp FszR wtrsRpP slo nzyRPzw zIpP szU strs RspA yppopo Rz CHFs Rsp
wpIpw zq opRltw ty zPopP Rz 6yo Rsp CPzCpP mlwlynp mpRUppy OHlwtRA
lyo PpyopP pq6ntpynA-

Mtr UlF nzyFRlyRwA oPtCCtyr Flyofi Ustns UlF lwFz FtxHwlRpo ty
SzHotyt- izxp zq RstF Flyo qpww qPzx lww zIpP Rsp mzoA PlyozxwAfi
lyo Fzxp zq tR UlF uzFRwpo wzzFp mA Rsp xzIpxpyR zq ntyopP mwznvFfi
mPzvpy RPHnv ClPRFfi lyo zRspP opmPtF nlHrsR ty Rsp ,zU zq Flyo
zIpP stF mzoA- gzP Rsp wlRRpP nlFpfi Up nzxCHRpo Rsp tyRpPFpnRtzy
zq Rsp opmPtF rpzxpRPA UtRs Rsp mzoA lyo pxtRRpo Flyo qPzx RszFp
PprtzyF- �pIpwFpRF lyo IpnRzP 6pwoF PpCPpFpyRtyr Mtr2F FslCp lyo
xzRtzy UpPp nzxCHRpo qzP plns qPlxp- jspFp 6pwoF UpPp Rspy HFpo
ty Rsp FtxHwlRtzyF Rz OHtnvwA nlwnHwlRp UspRspP l Flyo ClPRtnwp slo
nzwwtopo UtRs Rsp mzoA 3Itl l FtxCwp wzzvHC tyRz Rsp Ftrypo otFRlynp
qHynRtzy4 lyo UslR Rsp nzwwFtzy PpFCzyFp FszHwo mp 3mlFpo zy Rsp
xzRtzy pynzopo ty Rsp IpnRzP 6pwo4-

3 Conclusion

Ty Rsp pyofi Up UpPp lmwp Rz CPzoHnp l FAFRpx Ustns lwwzUpo Rsp
lPRtFRF Rz FtxHwlRp xlFFtIp OHlyRtRtpF zq ClPRtnwpFfi lyo Rz CpPqzPx
FpIpPlw tRpPlRtzyF CpP olA- jstF lwwzUpo Rsp pqqpnRF lPRtFRF Rz 6ytFs
yplPwA lww zq Rsp FpOHpynp ty l wtRRwp zIpP l xzyRs-


